


2

=4 ?D465 E>5EF65==>EF< ��� «�47?D>< 747>D4E?D545?5=<5 �<6=<=

�>67>D>4», =4 >E=>64=<< >FG5F>6 ?> >?D545?5=<N 7D4=<F >ED4==OE 7>=

EGM5EF6GNM<E 747>D4E?D545?<F5?L=OE E5F5=, (44?55 3 >ED4==O5 7>=O

EGM5EF6GNM<E 747>D4E?D545?<F5?L=OE E5F5=) E>7?4E=> ?D<?>65=<N 2 >

=4EF>OM5<G ?D<>47G.

2. �?D545?<FL E>EF46 EGM5EF6GNM<E 747>D4E?D545?<F5?L=OE E5F5=

E>7?4E=> ?D<?>65=<N 3 > =4EF>OM5<G ?D<>47G.

3. �7D4=<G5=<O (>5D5<5=5=<O) ?D46 =4 ?>?L7>64=<5 75<5?L=O<<

GG4EF>4<<, 6E>4OM<<< 6 >ED4==O5 7>=O EGM5EF6GNM<E

747>D4E?D545?<F5?L=OE E5F5=, GEF4=46?<64NFEO =4 ED>> M>E??G4F4F<<

EGM5EF6GNM<E 747>D4E?D545?<F5?L=OE E5F5= 6 E>>F65FEF6<< E �D46<?4<<

>ED4=O 747>D4E?D545?<F5?L=OE E5F5=, GF65D645==O<< ?>EF4=>6?5=<5<

�D46<F5?LEF64 $>EE<=E>>= $545D4F<< >F 20 =>O5DO 2000 7. 7 878.

4. �<=<EF5DEF6G 7D44>EFD><F5?L=>= 45OF5?L=>EF< < D476<F<O

47?><5D4F<= �<657>D>4E>>= >5?4EF<:

4.1. �4?D46<FL 6 D<?<4? ?G5?<G=>-?D46>6>= >><?4=<< «$>E>444EFD» ?>

�<657>D>4E>>= >5?4EF< E6545=<O > 7D4=<F4E >ED4==OE 7>= EGM5EF6GNM<E

747>D4E?D545?<F5?L=OE E5F5=.

4.2. �4?D46<FL >>?<N =4EF>OM57> ?D<>474 6 >D74= <5EF=>7>

E4<>G?D46?5=<O �>D>45F>>7> <G=<F<?4?L=>7> >>DG74 �<657>D>4E>>=

>5?4EF<.

4.3. $47<5EF<FL =4EF>OM<= ?D<>47 =4 >D<F<4?L=>< E4=F5 <<=<EF5DEF64

7D44>EFD><F5?L=>= 45OF5?L=>EF< < D476<F<O 47?><5D4F<= �<657>D>4E>>=

>5?4EF< 6 <=D>D<4F<>==>-F5?5>><<G=<>4F<>==>= E5F< «�=F5D=5F».

�<=<EFD �.�.$4>>64



�$�������� 1
> ?D<>47G <<=<EF5DEF64

7D44>EFD><F5?L=>= 45OF5?L=>EF<
< D476<F<O 47?><5D4F<=
�<657>D>4E>>= >5?4EF<

>F 7

%GM5EF6GNM<5 747>D4E?D545?<F5?L=O5 E5F<, D4E?>?>65==O5 6 �>D>45F>>< <G=<F<?4?L=>< >>DG75 �<657>D>4E>>=
>5?4EF<

7
?/?

$5>6<7<FO
74O6?5=<O

�4<<5=>64=<5, =47=4G5=<5,
>E=>6=4O E4D4>F5D<EF<>4

>5N5>F4
�4D5E �444EFD>6O= =><5D

>5N5>F4

�?>M44L
>ED4==>=
7>=O, >6.

<

�FG5F ?> >?D545?5=<N
7D4=<F >ED4==>= 7>=O

�E?>?=<F5?L $5>6<7<FO

1

>F
17.08.2023
7 �E-330-
382190/23

«�>475<=O=, =4475<=O=
747>?D>6>4 446?5=<5< 4> 0,3
��4 >F F>G>< ?D<E>54<=5=<O

> D4E?D545?<F5?L=><G
747>?D>6>4G 4> >5N5>F4 ?>
44D5EG: �<657>D>4E>4O >5?.,
�>D>45F><= D-=, 4. &4DE4=>6>,
(�G<>E<=E><= E/E), <.6.4. 70
(2716 '��-�)», =47=4G5=<5:

�47>?D>6>4 =<7>>7> 446?5=<O,
?D>FO65==>EFL: 127 <

$>EE<=E>4O
$545D4F<O,

�<657>D>4E>4O
>5?4EFL,

�>D>45F><= D-=,
�G<>E<=E><= E/E,
&4DE4=>6> 4.,
<.6.4. 70

52:15:0110111:974 472 ��� «��&»

>F
02.08.2023
7 2716
'��-�



2

2

>F
07.09.2023
7 �E-330-
416796/23

«�47>?D>6>4-66>4 > 6<?><G
4><G ?> 44D5EG:

�<657>D>4E>4O >5?.,
�>D>45F><= D-=, 45D56=O

�<E<=> (&<<<DO756E><= E/E),
4. 30 (�-4-

0941�/2022/��/��)»,
=47=4G5=<5: �47>?D>6>4

=<7>>7> 446?5=<O,
?D>FO65==>EFL: 4 <

$>EE<=E>4O
$545D4F<O,

�<657>D>4E>4O
>5?., �>D>45F><=

D-=, 45D56=O
�<E<=>, 4. 30

52:15:0070309:622 25 ��� «��&»

>F
30.08.2023
7 �-4-

0941�/2022
/��/��

3

>F
13.09.2023
7 �E-330-
426570/23

«�47>?D>6>4-66>4 > 6<?><G
4><G ?> 44D5EG:

�<657>D>4E>4O >5?4EFL,
�>D>45F><= D-=, D. ?.

�5D6><4=E><= (�5D6><4=E><=
E/E), G?. �>E>D5E5=E>4O, 4. 2
(�-4-0048�/2022/��/��)»,
=47=4G5=<5: 747>?D>6>4

=<7>>7> 446?5=<O,
?D>FO65==>EFL: 4 <

$>EE<=E>4O
$545D4F<O,

�<657>D>4E>4O
>5?4EFL,

�>D>45F><= D-=,
�5D6><4=E><=
(�5D6><4=E><=

E/E) D?,
�>E>D5E5=E>4O

G?., 4. 2

52:15:0170101:4741 31 ��� «��&»

>F
07.09.2023
7 �-4-

0048�/2022
/��/��

4

>F
13.09.2023
7 �E-330-
426575/23

«�47>?D>6>4-66>4 > 6<?><G
4><G ?> 44D5EG:

�<657>D>4E>4O >5?., 7.
�>D>45F, G?. %4DL>>6E>4O, 4.
11 (�-4-0793�/2022/��/'�-

��)», =47=4G5=<5: �47>?D>6>4
=<7>>7> 446?5=<O,

?D>FO65==>EFL: 31 <

$>EE<=E>4O
$545D4F<O,

�<657>D>4E>4O
>5?., �>D>45F><=
D-=, 7. �>D>45F,
G?. %4DL>>6E>4O,

4. 11

52:15:0080211:3088 124 ��� «��&»

>F
07.09.2023
7 �-4-

0793�/2022
/��/'�-��



3

5

>F
13.09.2023
7 �E-330-
426581/23

«�47>?D>6>4-66>4 > 6<?><G
4><G ?> 44D5EG:

�<657>D>4E>4O >5?.,
�>D>45F><= D-=, 45D56=O

�>?LL>= %GE>4>?
($54GD<=E><= E/E), F5D.

�>?LL>= %GE>4>? 1, GG. 18,
>44. =><5D 75<. 'G.

52:15:0030603:299 (�-4-
0789�/2022/��/��)»,

=47=4G5=<5: �47>?D>6>4
=<7>>7> 446?5=<O,
?D>FO65==>EFL: 3 <

$>EE<=E>4O
$545D4F<O,

�<657>D>4E>4O
>5?., �>D>45F><=
D-=, 4. �>?LL>=
%GE>4>?, F5D.

�>?LL>= %GE>4>?
1, GG. 18, >44.
=><5D 75<. GG.

52:15:0030603:299

52:15:0030603:2342 28 ��� «��&»

>F
07.09.2023
7 �-4-

0789�/2022
/��/��

6

>F
27.09.2023
7 �E-330-
451533/23

«�47>?D>6>4 446?5=<5< 4> 0,3
��4 >F F>G>< ?D<E>54<=5=<O

> D4E?D545?<F5?L=><G
747>?D>6>4G 4> >5N5>F4 ?>
44D5EG: �<657>D>4E>4O

>5?4EFL, �>D>45F><= D4=>=,
�<>>?>-�>7>EF<=E><= E/E, 4.

�O?>6E>4O, >44.
752:15:0120135:1396 (�-4-
2087��/%&-%)», =47=4G5=<5:

�47>?D>6>4 ED54=57> <
=<7>>7> 446?5=<O,

?D>FO65==>EFL: 1232 <

$>EE<=E>4O
$545D4F<O,

�<657>D>4E>4O
>5?4EFL,

�>D>45F><= D-=,
�<>>?>-

�>7>EF<=E><= E/E,
�O?>6E>4O 4., >44.
752:15:0120135:1

396

52:15:0120135:2585 5252 ��� «��&»

>F
22.09.2023
7 �-4-

2087��/%&
-%



4

7

>F
27.09.2023
7 �E-330-
451537/23

«�47>?D>6>4-66>4 > 6<?><G
4><G ?> 44D5EG:

�<657>D>4E>4O >5?.,
�>D>45F><= D4=>=, E.

�4DG5<=> (�<=O>>6E><= E/E),
G?. �6574=4O, 4. 18 (�-4-
0446�/2022/��/��)»,

=47=4G5=<5: �47>?D>6>4
=<7>>7> 446?5=<O,

?D>FO65==>EFL: 29 <

$>EE<=E>4O
$545D4F<O,

�<657>D>4E>4O
>5?4EFL,

�>D>45F><= D-=, E.
�4DG5<=>

(�<=O>>6E><= E/E),
G?. �6574=4O, 4. 18

52:15:0150128:1500 124 ��� «��&»

>F
12.09.2023
7 �-4-

0446�/2022
/��/��

8

>F
11.10.2023
7 �E-330-
477290/23

«�>475<=O= 747>?D>6>4
446?5=<5< 4> 0,3 ��4 >F
F>G>< ?D<E>54<=5=<O >
D4E?D545?<F5?L=><G

747>?D>6>4G 4> >5N5>F4 ?>
44D5EG: �<657>D>4E>4O

>5?4EFL, �>D>45F><= D4=>=, 4.
�5D>E<E4 (�G<>E<=E><= E/E),

4. 37 (�-4-0025�-�)»,
=47=4G5=<5: �47>?D>6>4

=<7>>7> 446?5=<O,
?D>FO65==>EFL: 136 <

$>EE<=E>4O
$545D4F<O,

�<657>D>4E>4O
>5?4EFL,

�>D>45F><=
D4=>=, 4.
�5D>E<E4

(�G<>E<=E><=
E/E), 4. 37

52:15:0000000:3051 560 ��� «��&»

>F
30.08.2023
7 �-4-
0025�-�

9

>F
18.10.2023
7 �E-330-
491901/23

«�47>?D>6>4- 66>4 > 6<?><G
4><G ?> 44D5EG:

�<657>D>4E>4O >5?4EFL,
�>D>45F><= D4=>=, 4.

�O?G=>6> (�G<>E<=E><= E/E),
4. 8�(�-4-

0142�/2022/��/��)»,
=47=4G5=<5:

�47>?D>6>4 =<7>>7> 446?5=<O,
?D>FO65==>EFL: 21 <

$>EE<=E>4O
$545D4F<O,

�<657>D>4E>4O
>5?4EFL,

�>D>45F><=
D4=>=, 4.
�O?G=>6>

(�G<>E<=E><=
E/E), 4. 8�

52:15:0110154:678 82 ��� «��&»

>F
04.10.2023
7 �-4-

0142�/2022
/��/��

_______________



�$�������� 2
> ?D<>47G <<=<EF5DEF64

7D44>EFD><F5?L=>= 45OF5?L=>EF<
< D476<F<O 47?><5D4F<=
�<657>D>4E>>= >5?4EF<

>F 7

�D4=<FO >ED4==OE 7>= EGM5EF6GNM<E 747>D4E?D545?<F5?L=OE E5F5=,
D4E?>?>65==OE 6 �>D>45F>>< <G=<F<?4?L=>< >>DG75 �<657>D>4E>>=

>5?4EF<

1. «�>475<=O=, =4475<=O= 747>?D>6>4 446?5=<5< 4> 0,3 ��4 >F F>G><
?D<E>54<=5=<O > D4E?D545?<F5?L=><G 747>?D>6>4G 4> >5N5>F4 ?> 44D5EG:
�<657>D>4E>4O >5?., �>D>45F><= D-=, 4. &4DE4=>6>, (�G<>E<=E><= E/E), <.6.4.
70 (2716 '��-�)», =47=4G5=<5: �47>?D>6>4 =<7>>7> 446?5=<O, ?D>FO65==>EFL:
127 <, 44D5E: $>EE<=E>4O $545D4F<O, �<657>D>4E>4O >5?4EFL, �>D>45F><= D-
=, �G<>E<=E><= E/E, &4DE4=>6> 4., <.6.4. 70 (>444EFD>6O= =><5D
52:15:0110111:974)

�5>7=4G5=<5
E4D4>F5D=OE
F>G5> 7D4=<F

�>>D4<=4FO, < �5F>4 >?D545?5=<O >>>D4<=4F <
ED54=OO >644D4F<G5E>4O
?>7D5L=>EFL ?>?>65=<O

E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5
74>D5??5=<O

F>G><X Y

1 2 3 4 5

1 570072.97 2182409.14 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

2 570075.33 2182408.78 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

3 570076.71 2182408.34 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

4 570085.98 2182406.47 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

5 570092.33 2182421.00 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

6 570165.34 2182373.48 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

7 570167.53 2182376.84 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

8 570090.55 2182426.93 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

9 570083.61 2182411.03 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

10 570077.71 2182412.22 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

11 570076.23 2182412.68 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

12 570073.57 2182413.09 �5F>4 E?GF=<>>6OE 75>457<G5E><E -



2

<7<5D5=<= (>?D545?5=<=), 0.10

1 570072.97 2182409.14 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

2. «�47>?D>6>4-66>4 > 6<?><G 4><G ?> 44D5EG: �<657>D>4E>4O >5?.,
�>D>45F><= D-=, 45D56=O �<E<=> (&<<<DO756E><= E/E), 4. 30 (�-4-
0941�/2022/��/��)», =47=4G5=<5: �47>?D>6>4 =<7>>7> 446?5=<O,
?D>FO65==>EFL: 4 <, 44D5E: $>EE<=E>4O $545D4F<O, �<657>D>4E>4O >5?.,
�>D>45F><= D-=, 45D56=O �<E<=>, 4. 30 (>444EFD>6O= =><5D
52:15:0070309:622)

�5>7=4G5=<5
E4D4>F5D=OE
F>G5> 7D4=<F

�>>D4<=4FO, < �5F>4 >?D545?5=<O >>>D4<=4F <
ED54=OO >644D4F<G5E>4O
?>7D5L=>EFL ?>?>65=<O

E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5
74>D5??5=<O

F>G><X Y

1 2 3 4 5
1 576689.71 2178862.52 �=4?<F<G5E><= <5F>4, 0.10 -

2 576692.69 2178862.07 �=4?<F<G5E><= <5F>4, 0.10 -

3 576693.35 2178861.98 �=4?<F<G5E><= <5F>4, 0.10 -

4 576695.92 2178861.63 �=4?<F<G5E><= <5F>4, 0.10 -

5 576696.46 2178865.59 �=4?<F<G5E><= <5F>4, 0.10 -

6 576693.89 2178865.94 �=4?<F<G5E><= <5F>4, 0.10 -

7 576693.27 2178866.03 �=4?<F<G5E><= <5F>4, 0.10 -

8 576690.31 2178866.48 �=4?<F<G5E><= <5F>4, 0.10 -

1 576689.71 2178862.52 �=4?<F<G5E><= <5F>4, 0.10 -

3. «�47>?D>6>4-66>4 > 6<?><G 4><G ?> 44D5EG: �<657>D>4E>4O >5?4EFL,
�>D>45F><= D-=, D. ?. �5D6><4=E><= (�5D6><4=E><= E/E), G?. �>E>D5E5=E>4O,
4. 2 (�-4-0048�/2022/��/��)», =47=4G5=<5: 747>?D>6>4 =<7>>7> 446?5=<O,
?D>FO65==>EFL: 4 <, 44D5E: $>EE<=E>4O $545D4F<O, �<657>D>4E>4O >5?4EFL,
�>D>45F><= D-=, �5D6><4=E><= (�5D6><4=E><= E/E) D?, �>E>D5E5=E>4O G?., 4.
2 (>444EFD>6O= =><5D 52:15:0170101:4741)

�5>7=4G5=<5
E4D4>F5D=OE
F>G5> 7D4=<F

�>>D4<=4FO, < �5F>4 >?D545?5=<O >>>D4<=4F <
ED54=OO >644D4F<G5E>4O
?>7D5L=>EFL ?>?>65=<O

E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5
74>D5??5=<O

F>G><X Y

1 2 3 4 5

1 562128.29 2177408.75 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

2 562130.78 2177411.88 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

3 562124.64 2177416.79 �5F>4 E?GF=<>>6OE 75>457<G5E><E
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5 568429.88 2184269.49 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

6 568431.21 2184273.26 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

7 568427.14 2184274.69 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

8 568427.47 2184275.72 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

9 568423.65 2184276.92 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

10 568416.85 2184255.37 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

1 568424.48 2184252.99 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

5. «�47>?D>6>4-66>4 > 6<?><G 4><G ?> 44D5EG: �<657>D>4E>4O >5?.,
�>D>45F><= D-=, 45D56=O �>?LL>= %GE>4>? ($54GD<=E><= E/E), F5D. �>?LL>=
%GE>4>? 1, GG. 18, >44. =><5D 75<. 'G. 52:15:0030603:299 (�-4-
0789�/2022/��/��)», =47=4G5=<5: �47>?D>6>4 =<7>>7> 446?5=<O,
?D>FO65==>EFL: 3 <, 44D5E: $>EE<=E>4O $545D4F<O, �<657>D>4E>4O >5?.,
�>D>45F><= D-=, 4. �>?LL>= %GE>4>?, F5D. �>?LL>= %GE>4>? 1 , GG. 18, >44.
=><5D 75<. GG. 52:15:0030603:299 (>444EFD>6O= =><5D 52:15:0030603:2342)

�5>7=4G5=<5
E4D4>F5D=OE
F>G5> 7D4=<F

�>>D4<=4FO, <
�5F>4 >?D545?5=<O >>>D4<=4F <

ED54=OO >644D4F<G5E>4O
?>7D5L=>EFL ?>?>65=<O

�?<E4=<5
74>D5??5=<O

F>G><
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X Y
E4D4>F5D=>= F>G>< (�t), <

1 2 3 4 5

1 584300.80 2176594.81 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

2 584304.41 2176596.54 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

3 584301.36 2176602.89 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

4 584297.75 2176601.17 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

1 584300.80 2176594.81 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

6. «�47>?D>6>4 446?5=<5< 4> 0,3 ��4 >F F>G>< ?D<E>54<=5=<O >
D4E?D545?<F5?L=><G 747>?D>6>4G 4> >5N5>F4 ?> 44D5EG: �<657>D>4E>4O
>5?4EFL, �>D>45F><= D4=>=, �<>>?>-�>7>EF<=E><= E/E, 4. �O?>6E>4O, >44.
752:15:0120135:1396 (�-4-2087��/%&-%)», =47=4G5=<5: �47>?D>6>4 ED54=57>
< =<7>>7> 446?5=<O, ?D>FO65==>EFL: 1232 <, 44D5E: $>EE<=E>4O $545D4F<O,
�<657>D>4E>4O >5?4EFL, �>D>45F><= D-=, �<>>?>-�>7>EF<=E><= E/E,
�O?>6E>4O 4., >44. 752:15:0120135:1396 (>444EFD>6O= =><5D
52:15:0120135:2585)

�5>7=4G5=<5
E4D4>F5D=OE
F>G5> 7D4=<F

�>>D4<=4FO, < �5F>4 >?D545?5=<O >>>D4<=4F <
ED54=OO >644D4F<G5E>4O
?>7D5L=>EFL ?>?>65=<O

E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5
74>D5??5=<O

F>G><X Y

1 2 3 4 5

1 561601.91 2195088.84 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

2 561601.52 2195086.91 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

3 561580.63 2195091.21 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

4 561581.06 2195093.24 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

5 561577.14 2195094.06 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

6 561576.71 2195092.02 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

7 561556.11 2195096.37 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

8 561556.55 2195098.37 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

9 561552.64 2195099.23 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

10 561552.19 2195097.20 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

11 561531.62 2195101.54 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -
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12 561531.97 2195103.63 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

13 561528.02 2195104.30 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

14 561527.70 2195102.37 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

15 561507.34 2195106.66 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

16 561507.79 2195108.57 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

17 561503.90 2195109.50 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

18 561503.42 2195107.49 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

19 561482.33 2195111.93 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

20 561482.74 2195113.89 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

21 561478.83 2195114.71 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

22 561478.42 2195112.76 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

23 561458.20 2195116.99 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

24 561458.62 2195118.95 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

25 561454.70 2195119.79 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

26 561454.28 2195117.81 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

27 561433.82 2195122.09 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

28 561434.25 2195124.06 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

29 561430.34 2195124.91 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

30 561429.90 2195122.91 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

31 561409.27 2195127.24 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

32 561409.64 2195129.30 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

33 561405.71 2195130.01 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

34 561404.64 2195124.12 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

35 561428.37 2195119.15 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

36 561426.56 2195106.18 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

37 561430.52 2195105.62 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

38 561432.30 2195118.33 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

39 561455.42 2195113.49 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -
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40 561478.57 2195108.64 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

41 561463.16 2195073.63 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

42 561458.91 2195064.23 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

43 561447.26 2195069.75 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

44 561445.54 2195066.14 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

45 561457.26 2195060.58 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

46 561452.91 2195050.95 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

47 561443.61 2195030.38 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

48 561438.71 2195032.48 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

49 561440.22 2195035.85 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

50 561437.31 2195037.23 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

51 561433.50 2195039.18 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

52 561430.11 2195031.86 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

53 561434.11 2195030.10 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

54 561441.97 2195026.73 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

55 561432.31 2195005.36 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

56 561430.20 2195000.68 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

57 561418.40 2195006.01 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

58 561416.76 2195002.37 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

59 561428.55 2194997.04 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

60 561422.04 2194982.64 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

61 561412.17 2194960.79 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

62 561400.37 2194966.12 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

63 561398.72 2194962.48 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

64 561410.53 2194957.15 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

65 561401.37 2194936.88 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

66 561399.41 2194932.54 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

67 561387.60 2194937.88 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -
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68 561385.95 2194934.23 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

69 561397.76 2194928.89 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

70 561391.02 2194913.98 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

71 561389.82 2194911.33 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

72 561378.05 2194916.74 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

73 561376.38 2194913.11 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

74 561388.18 2194907.68 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

75 561380.38 2194890.42 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

76 561368.57 2194895.77 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

77 561366.92 2194892.12 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

78 561378.73 2194886.78 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

79 561370.49 2194868.51 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

80 561368.89 2194865.00 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

81 561357.95 2194840.86 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

82 561384.00 2194828.56 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

83 561379.31 2194817.93 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

84 561413.04 2194802.14 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

85 561407.69 2194791.66 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

86 561428.23 2194781.47 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

87 561433.79 2194792.92 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

88 561434.25 2194792.75 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

89 561435.65 2194796.50 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

90 561435.55 2194796.53 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

91 561437.39 2194800.30 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

92 561436.61 2194800.69 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

93 561447.84 2194825.58 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

94 561459.43 2194820.16 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

95 561461.12 2194823.78 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -
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96 561449.49 2194829.22 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

97 561458.26 2194848.66 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

98 561470.02 2194843.49 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

99 561471.63 2194847.15 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

100 561459.91 2194852.30 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

101 561468.53 2194871.39 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

102 561480.30 2194866.21 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

103 561481.91 2194869.87 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

104 561470.18 2194875.04 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

105 561478.80 2194894.14 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

106 561490.37 2194888.64 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

107 561492.09 2194892.25 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

108 561480.45 2194897.79 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

109 561489.16 2194917.08 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

110 561501.03 2194912.03 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

111 561502.60 2194915.71 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

112 561490.81 2194920.72 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

113 561499.40 2194939.76 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

114 561511.05 2194934.34 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

115 561512.73 2194937.97 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

116 561501.05 2194943.40 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

117 561509.69 2194962.54 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

118 561521.44 2194957.26 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

119 561523.08 2194960.91 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

120 561511.34 2194966.18 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

121 561520.01 2194985.39 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

122 561531.74 2194980.06 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

123 561533.40 2194983.70 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -



9

124 561521.66 2194989.03 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

125 561530.30 2195008.17 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

126 561542.10 2195002.95 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

127 561543.72 2195006.60 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

128 561531.95 2195011.82 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

129 561540.62 2195031.02 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

130 561552.38 2195025.70 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

131 561554.02 2195029.35 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

132 561542.27 2195034.66 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

133 561543.07 2195036.44 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

134 561550.79 2195053.54 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

135 561562.57 2195048.24 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

136 561564.21 2195051.89 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

137 561552.44 2195057.18 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

138 561552.53 2195057.39 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

139 561564.31 2195052.09 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

140 561565.95 2195055.74 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

141 561554.18 2195061.04 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

142 561554.60 2195061.97 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

143 561550.95 2195063.61 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

144 561547.97 2195057.00 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

145 561540.26 2195039.94 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

146 561538.39 2195040.78 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

147 561536.74 2195037.14 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

148 561538.61 2195036.29 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

149 561538.13 2195035.22 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

150 561536.25 2195036.07 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

151 561534.61 2195032.42 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -
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152 561536.48 2195031.58 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

153 561527.98 2195012.74 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

154 561526.10 2195013.59 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

155 561524.45 2195009.95 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

156 561526.33 2195009.10 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

157 561517.66 2194989.90 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

158 561515.77 2194990.76 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

159 561514.12 2194987.11 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

160 561516.01 2194986.25 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

161 561507.37 2194967.10 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

162 561505.46 2194967.97 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

163 561503.81 2194964.32 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

164 561505.72 2194963.46 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

165 561497.01 2194944.18 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

166 561495.10 2194945.05 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

167 561493.46 2194941.40 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

168 561495.37 2194940.54 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

169 561486.72 2194921.38 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

170 561484.79 2194922.25 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

171 561483.15 2194918.60 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

172 561485.07 2194917.73 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

173 561476.43 2194898.59 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

174 561474.51 2194899.47 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

175 561472.84 2194895.83 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

176 561474.78 2194894.95 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

177 561466.18 2194875.89 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

178 561464.18 2194876.74 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

179 561462.61 2194873.06 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -
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180 561464.53 2194872.25 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

181 561455.76 2194852.84 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

182 561453.82 2194853.72 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

183 561452.17 2194850.07 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

184 561454.12 2194849.19 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

185 561445.53 2194830.17 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

186 561443.53 2194831.04 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

187 561441.94 2194827.37 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

188 561443.88 2194826.53 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

189 561433.03 2194802.49 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

190 561417.27 2194810.43 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

191 561414.86 2194805.71 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

192 561384.55 2194819.89 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

193 561389.23 2194830.51 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

194 561363.22 2194842.79 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

195 561371.71 2194861.53 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

196 561373.52 2194860.71 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

197 561376.76 2194867.87 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

198 561374.96 2194868.68 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

199 561383.20 2194886.96 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

200 561383.59 2194887.83 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

201 561385.42 2194887.01 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

202 561387.06 2194890.65 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

203 561385.24 2194891.47 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

204 561392.65 2194907.86 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

205 561393.85 2194910.51 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

206 561395.67 2194909.69 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

207 561397.32 2194913.34 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -
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208 561395.49 2194914.16 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

209 561402.23 2194929.07 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

210 561404.19 2194933.41 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

211 561406.02 2194932.59 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

212 561407.66 2194936.24 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

213 561405.84 2194937.06 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

214 561414.48 2194956.19 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

215 561416.32 2194955.37 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

216 561417.96 2194959.01 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

217 561416.13 2194959.84 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

218 561424.87 2194979.17 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

219 561426.70 2194978.34 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

220 561428.34 2194981.99 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

221 561426.51 2194982.81 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

222 561433.01 2194997.20 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

223 561435.12 2195001.87 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

224 561436.92 2195001.03 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

225 561438.62 2195004.65 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

226 561436.77 2195005.52 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

227 561445.44 2195024.70 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

228 561447.28 2195023.87 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

229 561448.93 2195027.52 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

230 561447.09 2195028.35 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

231 561455.73 2195047.49 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

232 561457.59 2195046.65 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

233 561459.23 2195050.30 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

234 561457.38 2195051.13 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

235 561461.71 2195060.72 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -
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236 561465.98 2195070.16 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

237 561467.80 2195069.30 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

238 561469.50 2195072.92 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

239 561467.61 2195073.81 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

240 561482.37 2195107.35 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

241 561482.50 2195107.81 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

242 561504.50 2195103.17 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

243 561528.91 2195098.03 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

244 561553.38 2195092.86 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

245 561577.85 2195087.69 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

246 561602.72 2195082.58 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

247 561609.00 2195081.29 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

248 561609.80 2195085.21 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

249 561608.54 2195085.47 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

250 561608.94 2195087.38 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

1 561601.91 2195088.84 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

7. «�47>?D>6>4-66>4 > 6<?><G 4><G ?> 44D5EG: �<657>D>4E>4O >5?.,
�>D>45F><= D4=>=, E. �4DG5<=> (�<=O>>6E><= E/E), G?. �6574=4O, 4. 18 (�-4-
0446�/2022/��/��)», =47=4G5=<5: �47>?D>6>4 =<7>>7> 446?5=<O,
?D>FO65==>EFL: 29 <, 44D5E: $>EE<=E>4O $545D4F<O, �<657>D>4E>4O >5?4EFL,
�>D>45F><= D-=, E. �4DG5<=> (�<=O>>6E><= E/E), G?. �6574=4O, 4. 18
(>444EFD>6O= =><5D 52:15:0150128:1500)

�5>7=4G5=<5
E4D4>F5D=OE
F>G5> 7D4=<F

�>>D4<=4FO, < �5F>4 >?D545?5=<O >>>D4<=4F <
ED54=OO >644D4F<G5E>4O
?>7D5L=>EFL ?>?>65=<O

E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5
74>D5??5=<O

F>G><X Y

1 2 3 4 5

1 546850.35 2208491.07 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

2 546853.21 2208493.87 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

3 546851.31 2208495.81 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

4 546834.29 2208513.17 �5F>4 E?GF=<>>6OE 75>457<G5E><E -
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<7<5D5=<= (>?D545?5=<=), 0.10

5 546833.88 2208513.58 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

6 546831.53 2208516.01 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

7 546828.66 2208513.22 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

8 546831.02 2208510.80 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

9 546831.43 2208510.37 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

10 546848.45 2208493.01 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

1 546850.35 2208491.07 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

8. «�>475<=O= 747>?D>6>4 446?5=<5< 4> 0,3 ��4 >F F>G><
?D<E>54<=5=<O > D4E?D545?<F5?L=><G 747>?D>6>4G 4> >5N5>F4 ?> 44D5EG:
�<657>D>4E>4O >5?4EFL, �>D>45F><= D4=>=, 4. �5D>E<E4 (�G<>E<=E><= E/E),
4. 37 (�-4-0025�-�)», =47=4G5=<5: �47>?D>6>4 =<7>>7> 446?5=<O,
?D>FO65==>EFL: 136 <, 44D5E: $>EE<=E>4O $545D4F<O, �<657>D>4E>4O
>5?4EFL, �>D>45F><= D4=>=, 4. �5D>E<E4 (�G<>E<=E><= E/E), 4. 37
(>444EFD>6O= =><5D 52:15:0000000:3051)

�5>7=4G5=<5
E4D4>F5D=OE
F>G5> 7D4=<F

�>>D4<=4FO, < �5F>4 >?D545?5=<O >>>D4<=4F <
ED54=OO >644D4F<G5E>4O
?>7D5L=>EFL ?>?>65=<O

E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5
74>D5??5=<O

F>G><X Y

1 2 3 4 5

1 565283.79 2184367.71 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

2 565284.57 2184370.56 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

3 565284.88 2184371.68 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

4 565287.24 2184405.30 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

5 565287.47 2184412.01 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

6 565237.50 2184413.70 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

7 565187.54 2184415.39 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

8 565187.40 2184411.39 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

9 565237.37 2184409.70 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

10 565283.33 2184408.15 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

11 565283.24 2184405.50 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -
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12 565280.92 2184372.36 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

13 565280.72 2184371.63 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

14 565279.93 2184368.77 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

1 565283.79 2184367.71 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

9. «�47>?D>6>4- 66>4 > 6<?><G 4><G ?> 44D5EG: �<657>D>4E>4O >5?4EFL,
�>D>45F><= D4=>=, 4. �O?G=>6> (�G<>E<=E><= E/E), 4. 8�(�-4-
0142�/2022/��/��)», =47=4G5=<5: �47>?D>6>4 =<7>>7> 446?5=<O,
?D>FO65==>EFL: 21 <, 44D5E: $>EE<=E>4O $545D4F<O, �<657>D>4E>4O >5?4EFL,
�>D>45F><= D4=>=, 4. �O?G=>6> (�G<>E<=E><= E/E),4. 8� (>444EFD>6O= =><5D
52:15:0110154:678)

�5>7=4G5=<5
E4D4>F5D=OE
F>G5> 7D4=<F

�>>D4<=4FO, < �5F>4 >?D545?5=<O >>>D4<=4F <
ED54=OO >644D4F<G5E>4O
?>7D5L=>EFL ?>?>65=<O

E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5
74>D5??5=<O

F>G><X Y

1 2 3 4 5

1 562750.43 2186793.90 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

2 562748.94 2186792.50 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

3 562747.49 2186791.54 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

4 562735.02 2186780.50 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

5 562737.67 2186777.51 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

6 562749.93 2186788.36 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

7 562751.42 2186789.34 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

8 562753.17 2186790.98 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

1 562750.43 2186793.90 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

_______________
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